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. #include<stdio.h>

int main(void)
{
int i=0, s=10;
do
{ +H
s+=i;
if (s%7==0) continue;
else ++i;
} while (s<15);
printf("%d,%d\n",i,s);
return 0;

}

#include<stdio.h>
#include<string.h>

int main(void)

{
char s[2][10];
strepy(s[0],"Tom");
strepy(s[1],"Jerry!");
printf("%s and %s\n", s[0],s[1]);
return 0;

}
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28. #include<stdio.h>
#include<math.h>
double fun(int x)
{
double y=0;
if(x==1) return1;
else  y=pow(x,x)+fun(x-1);

return y;

}

int main(void)

{
printf("%6.0f\n",fun(3));
return 0;

}

29. #include<stdio.h>
int main(void)
{
int i;
char x[ ][20]={"Beijing","Shanghai","Guangzhou","Shenzhen"},*p;
for(i=0; i<4; i++)
{
p=x[i];
if(i%2) printf("%s ",p);
}

return 0;

}
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#include<stdio.h>
#define P1 3.1415926
int main(void)
{
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char m;
float r,c,a;
float area,circle;
scanf("%c%f", &m,&r);
printf("r=%.2f\n",r);
area=PI*r*r;
circle=2*PI*r;
switch(___ ) /* B
{
case 'a": printf("area=%.2f\n",area);
break;
/¥ B ¥/
printf("circle=%.2f\n",circle);
break;
case 'b":
printf("area=%.2f,circle=%.2f\n",area,circle);
; =

default: printf("mark is wrong!\n");

}
return 0;
}
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#include<stdio.h>

int main (void)

{
int n[26]={0} ,k;
char c;
while (( =" [* B ¥
if ((>="2'&&c<='Z") n[ I+ /* A ¥/
for (k=0; ; k) /* B=E ¥
printf ("%c:%d\n" k+'a’, n[k]);
return 0;
}
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#include <stdio.h>
int main(void)

33.

34.

{

BRIt : AKXt 2 /A,

int year,yes;

scanf("%d",&year);

if (year%4= =0&&year%100!=0) yes=I;

else if (
else ;

if( ) printf("%d is ",year);

else printf("%d is not ",year);

) yesTl

printf("a leap year.\n");
return 0;
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